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: INAT YVIP IMY1A9 1IN NN u(x,t) 1
1, x<0

U (x0)=p(x)=0

u
t 1, x>0

XX’

t>0,-o<x<w,t>0 u(x,0)="~f(x)= {

['e]

%J‘ Zdx =7

:INAN NINNN -NOVW NYA5 PNIND NI u(x,t) 2

u, =u,, u(0,t)=ut)=0, u(x,0)=sinzx, u(x,0 =0 (0<x<1, t>0)

J.ut2 (x,8)dx =2

0
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3. u,=u,, ul0t)=et,u@t)=0, u(x0)=x, u(x0=0 (0<x<1, t>0)

4. u, =u, —4sinzx, u(0,t)=1u(Lt) =3,
u(x,0) =1+2x—4sin5z2x, u,(x,0)=0, (0<x<1, t>0)
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1) %I(uz(x,t)—l)zdx =2
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2) j.uf (x,8)dx =0

3) u(xt):e‘t(l—x)+
+i{ sin 7kt — 2 L+(—1)k cosakt——— 2 e Lsin zkx
~ 1+ k*7? kz\1+k?7? kz(@+k?7z?)

4) u(x,t) = 2x +1—M—Cfmsin7zx—4cos57zt sin 57x
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